i

i

N

I

PAN

=Yy

Wz B

—411—

ERS



# @M 5 E - #® & #
= B ' S 2 c £ El ) &R =
X 57 & #H
% A B #H 610, 070, 644 ARE
% Hi i #H 607,012, 928
% A % Hi 7 5l #H 3,057,716
(1) M m B OHE RO B 0
VAEE Y (2) M & 1§ OB B 1,012, 153
B o= MR (3 F oA MR B L f B A 0
i 1,012, 153
ES 21 I x #H 2, 045, 563
£ HE W X @ o 5 L oMW % B Wk 0
B2 3 3%02o0H#EICEDEEKRANHE
T M 5 F E B R RKKSE Bl &
= B ' S 2 c £ El ) &R =
S 5y & #
% A B #H 99, 900, 147 ARE
% Hi i #H 98, 864, 905
% A % Hi 7 5l #H 1, 035, 242
(1) M e B OHE RO OB 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 1, 035, 242
£ HE W X @ o 5 L oMW % A Wk 0
% 2 3 3 % 2 ® EC K D KA AN

—412—




M5 £ FEF BA & Y42 — % M & &
= B ' S 2 c £ El ) &R B
X 5 & #H
% A S #H 359, 226
% Hi S #H 347, 312
% A % Hi 7 5l #H 11,914
(1) Mk e OB ok M B A 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 11,914
£ HE W X @ o 5 L oMW % B Wk 0
2 3 3 %02 0B EIC KD EEBRANHE
& f 5 £ E H X W OB ¥ M & H
= B 1z X < 3 El % H: =
S 5y & #
I A 7 # 1,491, 810
% Hi S #H 1, 356, 586
% A % Hi 7 5l #H 135, 224
(1) Mk e OB ok M B A 0
WAL~ CHRE A 685
B o= MR (3 F oA MR B L f B A 0
i 685
ES 21 I x #H 134, 539
£ HE W X @ o 5 L oMW % A Wk 0
B2 3 3%020H#EICXDEEKRANHE

—413—




® ®M 5 £ K E ®m % AN = &t
= B | X (< £ El ) &R =
X 5 & #H
% A S #H 577, 541
% Hi S #H 435, 803
% A % Hi 7 5l #H 141, 738
(1) M m B OHE RO B 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 141, 738
£ HE W X @ o 5 L oMW % B Wk 0
B2 3 3%02o0H#EICEDEEKRANHE

%M 5 £ F  # K B B EH % M = &
= B ' S 2 c £ El ) &R =
X 57 & #H
% A S #H 3, 559, 352
% Hi S #H 3,214,533
% A % Hi 7 5l #H 344, 819
(1) Mk e OB ok M B A 0
VAEE MY (2) M & 1§ B B 163, 450
B o= MR (3 F oA MR B L f B A 0
i 163, 450
ES 21 I x #H 181, 369
£ HE W X @ o 5 L oMW % A Wk 0
B2 3 3%020H#EICXDEEKRANHE

—414—




TSNS HFHE Tt W EXEEBEXFRER N = &
S g 1z X < 3 El % H: =
X 57 & #H
I A 7% # 1,374
% H # i 6
% A % Hi 7 5l #H 1, 368
(1 Mk R FEOE R o BB 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 1, 368
£ HE W X @ o 5 L oMW % B Wk 0
B2 3 3%02o0H#EICEDEEKRANHE
+* M 5 £ K # B B W W N = &
S g 1z X < 3 El % H: =
X 57 & #H
% A B #H 8, 097, 224
% Hi i #H 3, 675, 924
% A % Hi 7 5l #H 4, 421, 300
(1) Mk e OB ok M B A 0
VAEE MY (2) M & 1§ B B 61,413
B o= MR (3 F oA MR B L f B A 0
i 61,413
ES 21 I x #H 4, 359, 887
£ HE W X @ o 5 L oMW % A Wk 0
B2 3 3%020H#EICXDEEKRANHE

—415—




* M 5 £ E 2 & € & % » = &
= BE I X (< £ El ) &R =
X 57 & #H
% A B #H 169, 761, 795
% Hi i #H 169, 761, 795
53 A 53 & 7 5l #H 0
(1) M m B OHE RO B 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 0
£ HE W X @ o 5 L oMW % B Wk 0
% 2 3 3 % 2 OB eI kD EE B AN
TS EE T=EFEFEEETFRMEN = &
= BE I X (< £ El ) &R =
S 5y & #
s A i #® 274, 057
s a3 i #® 137
% A % Hi 7 5l #H 273, 920
(1) M e B OHE RO OB 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 273, 920
£ HE W X @ o 5 L oMW % A Wk 0
% 2 3 3 % 2 O EC X D e R AN

—416—




*ﬂsfﬁfiitﬂﬂyﬁﬁ?ﬂ%ﬁ

(< B El ) ) =

X 5 & #H

% A S #H 2,517, 983

% Hi S #H 2,516, 758

% A % Hi 7 5l #H 1,225

(1) Mk e OB ok M B A 0

VAEE Y (2) M & 1§ OB B 1,225

B o= MR (3 F oA MR B L f B A 0

i 1,225

ES 21 I x #H 0

£ HE W X @ o 5 L oMW % B Wk 0
2 3 3 %0 20 EICXDEE®RANH

4 M 5 & E B H & % M £ &
£ # W X 12 B 7

5 ik &

X 5 & #H

% A S #H 794, 817

% Hi S #H 244, 311

% A % Hi 7 5l #H 550, 506

(1) Mk e OB ok M B A 0

VAEE MY (2) M & 1§ B B 3, 685

B o= MR (3 F oA MR B L f B A 0

i 3, 685

ES 21 I x #H 546, 821

£ HE W X @ o 5 L oMW % A Wk 0
B2 3 3%020H#EICXDEEKRANHE

—417—




TS EE BFRXFEREBALAEEH A & &
S g 1z X < 3 El % H: =
X 57 & #H
% A B #H 205, 788
% Hi i #H 119, 243
% A % Hi 7 5l #H 86, 545
(1) M m B OHE RO B 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 86, 545
£ HE W X @ o 5 L oMW % B Wk 0
B2 3 3%02o0H#EICEDEEKRANHE
M 5 F K E X R B BHRE®% N & F
= B ' S 2 c £ El ) &R =
S 5y & #
% A B #H 750, 523
% Hi i #H 14, 489
% A % Hi 7 5l #H 736, 034
(1) M e B OHE RO OB 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 736, 034
£ HE W X @ o 5 L oMW % A Wk 0
B2 3 3%020H#EICXDEEKRANHE

—418—




T M5 F E A X K % B K% M & F
= B ' S 2 (< £ El ) &R =
X 57 & #H
% A B #H 40,771
% Hi i #H 31, 561
% A % Hi 7 5l #H 9,210
(1) Mk e OB ok M B A 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 9,210
£ HE W X @ o 5 L oMW % B Wk 0
# 02 3 3 KXo 2 0 BEIIC KD HE SR A
M 5 £ E @ # & B % N = &
£ § W X < B 7 % ik &
S 5y & #
% A B #H 109, 851, 744
% Hi i #H 105, 817, 708
% A % Hi 7 5l #H 4,034, 036
(1) Mk e OB ok M B A 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 4, 034, 036
£ HE W X @ o 5 L oMW % A Wk 0
B2 3 3%020H#EICXDEEKRANHE

—419—




T 5 £ ZEEERMEBHREIN = ;
= B ' S 2 c £ El ) &R =
X 57 & #H
% A B #H 23, 899
% Hi i #H 515
% A % Hi 7 5l #H 23, 384
(1) M m B OHE RO B 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 23, 384
£ HE W X @ o 5 L oMW % B Wk 0
B2 3 3%02o0H#EICEDEEKRANHE
TS HE BREDPEEXRABEMNMRSE N & &
® H B X I B ¥ 5% ik &
X 57 & #H
% A B #H 940, 312
% Hi i #H 940, 312
53 A 53 & 7 5l #H 0
(1) M e B OHE RO OB 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 0
£ HE W X @ o 5 L oMW % A Wk 0
# 2 3 3 %0 2 08 EICEDEEE N

—420—




T M5 £ E # sk BFBERRT N =&
= B ' S 2 (< £ El ) &R B
X 57 & #H
% A S #H 17, 496, 925
% Hi S #H 16, 974, 288
% A % Hi 7 5l #H 522, 637
(1) M m B OHE RO B 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 522, 637
£ HE W X @ o 5 L oMW % B Wk 0
B2 3 3%02o0H#EICEDEEKRANHE
TS5 FE TRXBAXRERERE N
= B ' S 2 (< £ El ) &R =
S 5y & #
I A 7 # 282, 673
% Hi S #H 85, 290
% A % Hi 7 5l #H 197, 383
(1) Mk e OB ok M B A 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 197, 383
£ HE W X @ o 5 L oMW % A Wk 0
B2 3 3%020H#EICXDEEKRANHE

—421—




TS HEE TAIFERERREREZFTREERTIN S
£ H ®® X I B ¥ 5% ik &
X 57 & #H
% A S #H 4, 684, 027
% Hi S #H 4, 684, 027
53 A 53 & 7 5l #H 0
(1) M m B OHE RO B 0
AR~ MY (2) M 8 9 F OB B o8 0
B o= MR (3 F oA MR B L f B A 0
i 0
ES 21 I x #H 0
£ HE W X @ o 5 L oMW % B Wk 0
2 3 3 %02 0B EIC KD EEBRANHE

—422—




